
\vbox to 25pt{\hbox {A}}

The box:

A

(width, depth, height)=(7.50002pt, 0.0pt, 25.0pt). Baseline drawn
to show depth/height but will be visible only if depth is not zero.

Node list: name: vlist

type: 0

prev next

width 7.50002pt

height 25pt

depth 0pt

glue_set 0

glue_sign 0

glue_order 0

shift 0pt

list (of nodes in this box) name: hlist

type: explicit box command

prev next

width 7.50002pt

height 6.83331pt

depth 0pt

glue_set 0.000000

glue_sign 0

glue_order 0

shift 0pt

list (of nodes in this box) name: glyph

type: character

prev next

char: "A"

lang: 0

font: 15

width: 7.50002pt

\vbox to 25pt{A}

The box:

A

(width, depth, height)=(345.0pt, 0.0pt, 25.0pt). Baseline drawn to show depth/height
but will be visible only if depth is not zero.
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Node list: name: vlist

type: 0

prev next

width 345pt

height 25pt

depth 0pt

glue_set 0

glue_sign 0

glue_order 0

shift 0pt

list (of nodes in this box) name: hlist

type: created by linebreaking

prev next

width 345pt

height 6.83331pt

depth 0pt

glue_set 322.500000

glue_sign 1

glue_order 2

shift 0pt

list (of nodes in this box) name: local_par

type: nil

prev next

name: hlist

type: parindent

prev next

width 15pt

height 0pt

depth 0pt

glue_set 0.000000

glue_sign 0

glue_order 0

shift 0pt

list (of nodes in this box)

name: glyph

type: character

prev next

char: "A"

lang: 0

font: 15

width: 7.50002pt

name: penalty

type: 0

prev next

10000

name: glue

type: parfillskip

prev next

parfillskip

0pt + 1 fil - 0pt

name: glue

type: rightskip

prev next

rightskip

0pt + 0pt - 0pt

\vbox to 25pt{A \hbox {B}}

The box:

A B

(width, depth, height)=(345.0pt, 0.0pt, 25.0pt). Baseline drawn to show depth/height
but will be visible only if depth is not zero.
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Node list: name: vlist

type: 0

prev next

width 345pt

height 25pt

depth 0pt

glue_set 0

glue_sign 0

glue_order 0

shift 0pt

list (of nodes in this box) name: hlist

type: created by linebreaking

prev next

width 345pt

height 6.83331pt

depth 0pt

glue_set 312.083313

glue_sign 1

glue_order 2

shift 0pt

list (of nodes in this box) name: local_par

type: nil

prev next

name: hlist

type: parindent

prev next

width 15pt

height 0pt

depth 0pt

glue_set 0.000000

glue_sign 0

glue_order 0

shift 0pt

list (of nodes in this box)

name: glyph

type: character

prev next

char: "A"

lang: 0

font: 15

width: 7.50002pt

name: glue

type: spaceskip

prev next

spaceskip

3.33333pt + 1.66498pt - 1.11221pt

name: hlist

type: explicit box command

prev next

width 7.08336pt

height 6.83331pt

depth 0pt

glue_set 0.000000

glue_sign 0

glue_order 0

shift 0pt

list (of nodes in this box)

name: penalty

type: 0

prev next

10000

name: glyph

type: character

prev next

char: "B"

lang: 0

font: 15

width: 7.08336pt

name: glue

type: parfillskip

prev next

parfillskip

0pt + 1 fil - 0pt

name: glue

type: rightskip

prev next

rightskip

0pt + 0pt - 0pt

\vtop to 25pt{A\hfill B}

The box: A B

(width, depth, height)=(345.0pt, 18.16669pt, 6.83331pt). Baseline drawn to
show depth/height but will be visible only if depth is not zero.
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Node list: name: vlist

type: 0

prev next

width 345pt

height 6.83331pt

depth 18.1667pt

glue_set 0

glue_sign 0

glue_order 0

shift 0pt

list (of nodes in this box) name: hlist

type: created by linebreaking

prev next

width 345pt

height 6.83331pt

depth 0pt

glue_set 315.416626

glue_sign 1

glue_order 3

shift 0pt

list (of nodes in this box) name: local_par

type: nil

prev next

name: hlist

type: parindent

prev next

width 15pt

height 0pt

depth 0pt

glue_set 0.000000

glue_sign 0

glue_order 0

shift 0pt

list (of nodes in this box)

name: glyph

type: character

prev next

char: "A"

lang: 0

font: 15

width: 7.50002pt

name: glue

type: skip

prev next

skip

0pt + 1 fill - 0pt

name: glyph

type: character

prev next

char: "B"

lang: 0

font: 15

width: 7.08336pt

name: penalty

type: 0

prev next

10000

name: glue

type: parfillskip

prev next

parfillskip

0pt + 1 fil - 0pt

name: glue

type: rightskip

prev next

rightskip

0pt + 0pt - 0pt

\hbox to 25pt{A\hskip 10pt\hfill B}

The box: A B (width, depth, height)=(25.0pt, 0.0pt, 6.83331pt). Baseline
drawn to show depth/height but will be visible only if depth is not zero.

Node list: name: hlist

type: explicit box command

prev next

width 25pt

height 6.83331pt

depth 0pt

glue_set 0.416626

glue_sign 1

glue_order 3

shift 0pt

list (of nodes in this box) name: glyph

type: character

prev next

char: "A"

lang: 0

font: 15

width: 7.50002pt

name: glue

type: skip

prev next

skip

10pt + 0pt - 0pt

name: glue

type: skip

prev next

skip

0pt + 1 fill - 0pt

name: glyph

type: character

prev next

char: "B"

lang: 0

font: 15

width: 7.08336pt

\hbox to100pt{A\hskip 4pt plus3pt minus 2pt B\hskip 0pt plus 2fil C\hskip

0pt plus 2fill D\hskip 0pt plus 3fill}

The box: A BC D (width, depth, height)=(100.0pt, 0.0pt, 6.83331pt).
Baseline drawn to show depth/height but will be visible only if depth is not zero.
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Node list: name: hlist

type: explicit box command

prev next

width 100pt

height 6.83331pt

depth 0pt

glue_set 13.311099

glue_sign 1

glue_order 3

shift 0pt

list (of nodes in this box) name: glyph

type: character

prev next

char: "A"

lang: 0

font: 15

width: 7.50002pt

name: glue

type: skip

prev next

skip

4pt + 3pt - 2pt

name: glyph

type: character

prev next

char: "B"

lang: 0

font: 15

width: 7.08336pt

name: glue

type: skip

prev next

skip

0pt + 2 fil - 0pt

name: glyph

type: character

prev next

char: "C"

lang: 0

font: 15

width: 7.22223pt

name: glue

type: skip

prev next

skip

0pt + 2 fill - 0pt

name: glyph

type: character

prev next

char: "D"

lang: 0

font: 15

width: 7.6389pt

name: glue

type: skip

prev next

skip

0pt + 3 fill - 0pt

\hbox {$\displaystyle \int f(x) dx$}

The box:

∫
f(x)dx (width, depth, height)=(42.05211pt, 8.61124pt, 13.61122pt).

Baseline drawn to show depth/height but will be visible only if depth is not zero.

Node list: name: hlist

type: explicit box command

prev next

width 42.0521pt

height 13.6112pt

depth 8.61124pt

glue_set 0.000000

glue_sign 0

glue_order 0

shift 0pt

list (of nodes in this box) name: math

type: 0

prev next

name: hlist

type: unknown origin

prev next

width 10pt

height 0pt

depth 22.2225pt

glue_set 0.000000

glue_sign 0

glue_order 0

shift -13.6112pt

list (of nodes in this box)

name: glue

type: medmuskip

prev next

medmuskip

1.66663pt + 0pt - 0pt

name: glyph

type: character

prev next

char: "Z"

lang: 0

font: 1

width: 5.55557pt

name: glyph

type: character

prev next

char: "f"

lang: 0

font: 19

width: 4.89586pt

name: kern

type: 0

prev next

kern: 1.0764pt

name: glyph

type: character

prev next

char: "("

lang: 0

font: 15

width: 3.8889pt

name: glyph

type: character

prev next

char: "x"

lang: 0

font: 19

width: 5.71527pt

name: glyph

type: character

prev next

char: ")"

lang: 0

font: 15

width: 3.8889pt

name: glyph

type: character

prev next

char: "d"

lang: 0

font: 19

width: 5.20486pt

name: glyph

type: character

prev next

char: "x"

lang: 0

font: 19

width: 5.71527pt

name: math

type: 1

prev next
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